ok F AT At L9t B stk ol AU

1 5064 1

59.64 = 3 64% - 290 .2
v 5964 ’ i965;<6i 20 s
T ® 3% 10
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5964 1

1 S8 9064
3 100 © 3 100 °

webA] AL A3} qel st e s S0 s S gy,

59.64 + 3 = 59.64 x
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1274 197 1
Jh 19747 = 2 L= 2
t 100 100 XZ
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— %218
100
1432 1457 1
. 14. 2+ = — = —_ ——— —
H. 1432 +8 = S0+ 8 100X§
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00~ 7
1656 1656 1
t}. 16.56 + 9 T00 9 - x?
184
e Y1
100~ 8
2 A2 758 2 o, 7}
1.84—1.79 = 0.05
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D 22+5 @ 9+8
@ 6=+80 ®)36.4+6
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D 2+5=44
®9+8=1.125
®112+4=28

@ 6 +80 = 0.075

® 36.4+6=6.066--




@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?
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(0)0.3km? @ 0.3ha ® 300a

@ 3000 m? ® 3ha
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T 22 &9= 1AM v
@ 0.3km? = 30ha
® 300a = 3ha
@ 3000m? = 30a = 0.3ha
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D 0.75km? @ 100m x 4000 cm
@80000a @ 25ha

® 100 m x 3000 cm

B

T 2o w92 1A A vt
@ 0.75km? = 75ha

@ 100m x 4000 cm = 4000 m2 = 0.4 ha
3 80000a = 800 ha,

@ 25ha

® 100m x 3000 cm = 3000 m? = 0.3 ha
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9kg —» Dg

300g —» @kg

58t =Qkg=®@g

4600g = 4.6kg = ®t
@ 90000 @ 0.03 ® 53000
@ 58000000 @0.0046

1kg =1000g , 1t = 1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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— 1.86t
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D 1.68+8 @)54+5 @ 3213

D 1.68+8 =0.21

®54+5=1.08
® 32.1+3=10.7
@ 126+-9=14

® 15.3+6 = 2.55
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whebA] 3.12 = 2994 t),
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3— =3.25,3- =3875
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3.25%} 3.875 Ato] 9] A= 3.78 7} 3.56 YU T
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987 + 56 = 17.625
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la 2] FAE % kg AU7H?

ohE R 2 Yol

=90 x 40 + 2 = 1800m? = 18a
25.2t = 25200kg

1a2] F7| = 25200 + 18 = 1400kg
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whabA], 7R 18.34 - 15.72 = 2.62(m) S&oF Tyt




24.

o 2
o g2 A Bl GAleA Hgo] thiro] Felx gt
Uiro] 2 e 2 a 917 T2,

= a
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